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1) Find the Jargest five digit number is exactly divasible by 7, 10, 15, 21 and 28
7, 10, 15, 2] sveams 28 03 adgom tlodeth o sole Hag Joe, S07
-Fﬁfljﬂ'ﬁtikﬂhl n(:’p)fa.mn'r. 10, 1521
(A) 99840 (8) 99900 (C) 99960 (D) 99990

1)  Aschota had to do a muliiphcation. Instead of taking 45 as one of the multiplicrs,
she wok 54 As a result, the product went up by 342, What 1s the correct product?

w8 rhneedin datuipd 158 D 540 o8 dudnr AT W Phsom

342 Dofiood, Hoand DO 7
ﬂﬂjziﬁlw;}'hc_-guf 'Ejli_lfd:dj#ﬂ-ﬁu:}rﬁi&:?fdﬁ:i.&;l

Tfﬂgﬁtfi'l.rh'l)‘l
(A) 2082 (B) 2610 (C) 2268 (D) 1710
3) When anumber is divided by 32 it leaves remainder of 21, What will be the remainder

when the number 15 divided by 18?
e DOFPD S287 eARoDBHE) 21 Fin HYD. 5 Do D 168F AN 008 Fan S00?
-r-F-JJEF"} Llr??-ja 18/7.0 U';1.+ﬁ:JEEI¢Lngn32(JJ L

(A) R (B) 11 {€) 13 15

4) [ the price of petrol increases by 20%, Abhi intends to spend only an additional
10% on petrol, By bow much perceniage will he reduce the quantity of petrol
purchased?
aghen 45 203 dofigond o 10% deal befend eciton po Demeod, e6m ool
a0 e DODAMEG B0 T .

J'J'Jd:j:..rjIII:H.I‘:—E{.!ﬁl&élﬂifﬂél_ﬂlﬁiﬂ!fﬁm:afJ’Jﬁﬁf'

el nd S

| 2 ) vl 2
(A) HE!- (1) ﬁ;'i. 91*1 (D) 93*

5)  In a test cricket maich leam A made 10% of the 1otal runs (made by both tcams)
more than team B. [ftcam B made 630 runs. by how many runs did team 13 lose the
maich?

28 8y BB S SeP A i B & goff, weo (Sor sy S0 Dciacbeos) Db 10%
Beiehos aigios dhon. B i 530 axdrive Shegend of acbrie does’ B i Sn S
EADE ot 7

_s;..&hu}.hé?ﬁ[u“"lﬂJ'frux"u}u}.rﬁ'l.ﬂ LeLB I"""" rl'.ﬁﬁ.sff.:-'-‘..{l

.Jmf.ri.:.-}:u'?.'{f JJ‘H“-'&? H?:HLF’I-I'FHJ:

(A) 140 (B) 150 () 130 @ 160
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6)

Y

8)

n

If the cost price of 20 1ems is equal to the selling pnce of 16 items. What is (he
percentage of profit or loss that the merchant makes?

20 S0 67 S0 16 Fi3Ho w00 Do HBRG0 Sond. HNEIAS UNT BineT?
? :
-H:F;aw*gd'.-dﬁi..amﬁnimu Lasyjedfiue o7zl dlioo/
(A) 20% Profit (emgio) (B) 25% Loss (3g0)

(O 25% Profit (eng0) (D) 33.33% Loss (3g0)

Uma got 35% of the total marks in an examination and failed by 30 marks. Mahesh,
who took the same examinzlion got 60% of the wial marks and got 20 marks more
than the pass mark. Whal was the passing marks in the ¢xaminanon?
S 2.8 DEES Bngo duacyd? 35% B Hrod oAt 30 ARE,EE Haues ecnod §d
Db orlorh Tl Ao Bncyd 603 oo, GEFEL SILTRD Sndde Boff 20 Sdogn
DK Mocady. & DL GAGS Soderdd et SRS

V.t M1 L w?lfﬂn,ﬁ-krﬂpe e S0t L 3R . b L@ L

TEV S L S A Lo i8 7 Vb St W 2t Wit o 60%

(A) 90 (B) 100 () 1o (M 120

15% of 80 15 x% lcss than 20, Find «
15% ooty 60, 20 S0l xx B35 waud 1 Denss 087

S T Sr caf S 23% 155V
(A} R (R} 10 i) 20 (D) 40

Jagan weight twice a« much as Manasa Manasa's weight is 50% of Bhargav's
weight. Dinesh weight 40% of Jagan weight, Which of these 4 persons weight the
leasr?

ariS 0P S o S0 A SN LS IS ohHdt sox &35 o el

oS 4% B Sabod! 88 658 sy ?
- A0 1y -!::f‘ NS roe SORN D 0L .-I.l!ul.i'rﬂ-ﬂ.f.-tfa Wi Lty J;f,,-ﬁ
tf:rfu’.;mir.;_.-,,ﬁw,.-rw
(A) Mmnasa / 233 (B) Dincsh /ol
(C) Jagan / et (1) Bhargav . 3¢S
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10} In selling a preduct. if the profit received is 40% of u's selling price. what 15 the
percentage of profit on cost price”

o DD 85, A0 Dot ingito £ s AdeD 10T saud, 7% dop rseto Job |
.f:rdbu-ﬁ!£F¢f£52ﬂ1?+rxfbﬂw;£ﬂ=ﬁ ;j;{;y;}dﬂ_{:-
(A) o625 ) 3334 (€) fo3% (D) 3?-3_;':
1) A merchant sells an artiche for Rs. 1,500 In the process he made [5% loss What
was the cost price of the product”? {in Rs )
ol T DedRNE) & NGO G 15000 egdo Duoe 193 A0 bl & S MY

D087 (Endeet)
(LUE S rY sl S e 0 ruld 15% et [its ) L1500 L2t L
(A) 1650 By 1700 (€) 1150 (© 1725

12) Oune year paymeni to the servant is Rs. 6,000 plus one gift The servant leaves after
8 months and receives Rs. 3,000 and 2 @t Find the price of the gift (in Rs.)
8 DOBEATA 1 HOMES da 6,000 OCTH & BINVILD cE BB, & Htend 8 dou
Schang DD Lndll dn 3,000 GO STARDHAD DHod, 8 DTS dlus, Daxd Dol 7
(Cmdeonde)
N e 20000)1 &= Flg 110 8° w87 Bl 0 F L1 n 6000 21200 TSI L
{LFUEHLJHH'J-ZJJ'H?fJfJ'i-.f‘{l

(A} 2000 (B) 2500 @© 3000 (D) 1500

13} A merchant buys two articles for Rs. 880. He sells one of them at a profit of 30%
and the other at a loss of 10% und makes no profit or loss in the end, Whan is the
selling price of the article that he <old at a profit? (i Rs )
5 g Bodh Susherto t S808 §W sodod 18 DD 30% oand. Bodiod 10%

08 B B SLo00 S48 enpitinesh, Signd it EELBL B0 BWY
ot @D do D067 (dedwaDdh)
ig&fﬁ;ﬂ-‘rjr- Wi 10% E..dfnul,;gmﬂ‘.flf.g }J.l;_.um?rujr..fl

(Lug )t Snfas, ) ol (2 dni fas,) IElv vt SR S
{A) 400 (B) 624 (C) 520 (D) 480

14) I apples are bought ot the rate of 8 for Rs. 100, how many apples must be sold for
Rs. 100 £0 as 10 gain 60%?
2 sbdot Bn. 1005 £70, 0% 0agio Beooeecd . 1006 O sldot edin?
-n-".l}-.-rE.bf+u.lmid':.i.fd'ild§'miE:‘Li_rtéfu;:q-ulmf’ﬁlﬁ
cEni S
0O « ® (© 6 (D) 7
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I5) A father fixed deposit some amoum at 12% p.a. simple interest in his daughter’s
name, when she was 16 years old. Il she received Rs. 4,30,000 at her 22 years age,
how much amount was deposited by her father? (in Rs.)

& 807 §%06 By 123 oY 85 16 Feasons S0 b8 HEE 8demed i
SB0 dndoods 2 | ;wﬁ?ﬁ;m ﬂﬂﬂ%ﬂw&mm
Aonu DoBT ( ?).
ASEI S Gl aipl o Lor 2 sivand POt T
e +$Hd"’=ﬂ=?-;-r IJT-{- red M0, e ither g £ HJHWJJF:H-JJL- (1

tS S, 1
(A} 2,25,000 () 200,000 (C) 3,00,000 (D) 2.50,000

16} What will Rs. 1.500 amount (0 10 three years if it 15 invested in 20% p a. compound
urerest (terest being compounded annually)? (10 Rupees)

8. 150065 TG0 Suondt 0% Bufian SO 2008 158, (08 SuSHoNd 5 Hiond)
BoshEd HUSHOM BN W 80 89800 T (Ednaids)
el Fetb ot o L S rrl 2ol wad £ Jof 301300

Wi end P ot (S nt p ot B
(A) 2592 (B) 2400 (C) 2678 (D) 2540

17)  The difference between the comynund interest and the simple intercst on a certain
sum at 15% pa for 3 years s Rs. 567 What will be the difference of the amount at
the end of 2 years” (in Rs )

S8 Aogod 153 M 5 Sl A dossre S84, axthsbe o dn. 567 sowd,
)

Bots HodEmoh 008 oy Gornd ? (
o il UL L P R -,—-"'r"-i:.r}.luhuldr":rL;Jihlm;.-._El
W IIT E sl P
(A) Hs 240 (B) Rs 180 {C) Rs 300 (D) Rs 360

18) A sum of money invested for some years at 8% p.a. simple interest, it grows 1o
Rs. 930. The same sum of the moncy invested for the same number of years a1 4%
p.o. simple micrest, 1 grows 10 Rs. 840 only. What was the sum invested? (in Rs.)

B0 x indim " A stitin
o s oo DOy el s e s escn
Dhpnd el 360 9087 (Grdeabe)

Jﬂklifﬁ‘fl.ulnanﬁ,.uﬂqj;.b!;#:-;;fﬂ ﬁ.ﬁ.uﬁarbfﬁ-dhﬂfr‘;_fi

TJﬂfFaJJﬁfﬂﬁ?g.lj.h‘rnw:..ﬁﬂflfﬂra.,..-'L-"f_-':-r'i':.;'
(A) 900 {B) 300 (C) 850 (D) 750
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19) How many years it take for a sum of money to grow from Rs. 5.000 to Rs. 9,000, if
it is nvested at 12% p.a. simple interest?

12% Mnbion oncidd) Bend e, 5,000 Y DoSEmed! dn. 5,000 eHs0n?

TJLEH#-H?M*JLF{’JJ‘-H%-FU L el ol 12%

3 1
A 53 ®) © o3 (D) 63

20) Rs. 5,000 s doubled in 5 years st some rate of imterest. Find aut (he rate of interest
if it is deposited for simple interest
5.000 GRadvaben 5 HoSEorodt S0l 54508t 3o watm.on = Auesy mSES St
3 doff 345k Ho8?
fJnwaﬁ;ﬂkﬁJHL)Jr"JFJ?#Jnﬂdl—&&{‘ ;J';..um
(A) 20% (B} 10% (C) 15% (D) 18%

21) The product of two numbers is 4212 and ther HCF is 9. Find the possible pair of

numbers.

Soths Hogo oRED 4212 oA KR 5 sond, st PESudd, Tope sk
BT, W a2 T atrrete  SHOP V15162025 F Kol sy
(A) 36, 117 (B} 27, 156

(C) 54,78 (D) All the above

22) The LCM of rwo numbers is 1008 and their HCF is 36, [f one of the two numbers 15
144, Find the other number.

Soda Rogyo B8 1008 1Ot dege. 36, & JoB L8 Do, 144 waud W5 Dom®

SRR
N sn l‘.-ru.i'.rt Iﬁd-{'lﬁ_{.ﬂ «HCF KU/t 1008 LCM.Kstaiss

(A) 288 (B) 576 (C) 252 (D) 504

23) How many 9 letter words can be formed out of the letters of the word
‘HYDERABAD"?
'HYDERABAD' sifo 555ue®n egiose 108 O 9 oo Dosen S8mmon?
T E Vi3, 79Z o 5IUYDERABAD'
o 9
(A) 2191 ® 3 ) 9 ™ 3
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24) low many numbers of five digns can be formed with the digits 6, 8, 4, 7 and 97
6. R4, T svoain 9 cldainfuo oy 'S wole Sogomh oG ?
I SE e nZ SN Wy £09016,8,87
{A) 60 (B) 120 (Cy 240 (D) 150

15) Three coins arc tossed. What is the probability of yerting 2 heads snd onc tail?
Bamay Sl HrbaSLADM 2 PRy 00k | PANY oW fo DOIELE o8 T

-ri-kErq.l"h:,ﬁ.ﬁ....!:'Lul&E:f?ﬂguflf;L_huqlﬁquﬂf'

! 2 3 a
(A) 5 ® 3 © 3 ®) 3

26) MA:B-7:9B.C=-2:3andC:D=9:5MndAB:C:1D.
AB=7:9.B.C~2:300amC:D=9:5saxd A:DB . C: Dodboman
ffﬂ#ﬂ:ﬂ'.c:ﬂ?#f:bii:}uller»:lI:SIA:B:T:Hﬁ
(A) 14:27:18.15 (B) 14:27:18:;15 -
(C) 21:18:10:27 @ 14:18:27: 15 “\2%
27) The sum of iwe numbers is 32 and the diflcrence 15 8. Find the ratio of n‘l':u':'uihc:u :
Bods Dok Budnn 32 Muoats B (i 8 el & Sok Homye 05 ol T
Tr.H-‘Ff-...-'F it [T ﬂ}fqﬂuig. 32 Fotatis)

(A) 5.3 (B) 5.4 @ §:3 (D) 5:7

28) What should be subtracted from the teoms of the ratie 19 : 23 makes it equal to the
ratioof 3 : 47
19 : 20 DG 4 Do Dogye Mod D Sogd BLEY o 008 1: 4 sBlon?
Wiendidad 0l ST L B L19:
(A) 4 {B) 7 (C) 6 D) 5

29) Divide Rs. 10.000 among A, B and C such that A gets = of B's Share and 8 gets 3
of C's share. Then what is the share of A? (in Rs ) ;
gim Ln.mﬁﬁ.ﬂmtmnmm A BB owndf T ol dooat
BAC mendt T S806 A o, oren 2087 (SadwaDel)

- % r.j;d'cfgm;r.;_rf;?'bm%fﬂ ABIEAL LT LCipABE 1510000

(Lugrend ovasniet/ M
(A) 5000 (B) 3000 (C) 4000 Dy 2000
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Negali king i1 full
3y (ne ripes cats, 50 pase coms and 25 pase coins, whose nuimbers are proportsonal
to L3~ and 4 are together worth Rs. 161, Find the number of 25 paise coins.
Mﬁu.a-m ) e SO0 7 g s 3.3% woaty 4 edadasos® 4ub ol duao

DD fm 151 Sowd, 2 3 D Lugd dax PR

EPRPSIPRT TP T JTRP U 13 NS ELGBMELGWEL L vk

E Rl v L gan L
A) R (l3) DR (Cy nH2 (D) 120
) 0606 MxM ?
(A} 2400 (B) 2000 (€1 1904 (D) 1908
J2% (476 424 4A1T6x 424 ?
{A) 2004 i3 36 {(C) 27 Dy 2906
2 8 64 10
]J] 'l'lwll("‘Ful'E.l—i,ﬁ and ﬁ 15
E E E Fosni I'E £ 0m 20 oy
37978l T s 0 2 8 64
T HCF ¥ TR R T]
1600 3 .. 160 2
(M) = i) a1 ©r 5 (D) R

34) Product of lwe subsequent prime sumbers s 323, What is the LCM of them?
ol M50 LoD DoRye o0 120 s Eap.h. ool ?
AT LCMET 2323 AW sty
(A 17 (3) equal o LICT | ddezr Do
) 13 (D) 323

35) 336-208v130=7

(A) 261 (B) 264 (C) 2.61 (D) 264
a Ga+db
36) "i.'"i-'h"“"‘“""""“rm_sa is
o G + Al
I"':li ol ———M+5h Dens DOBT
_ , Bas+4b a 4
rniad samsa i =3/
{A) 5 (B) 3 C) 4 D) -1
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A 3 )
37) I3y Sy Samd — 7 <, then what is the value x-. "
- i

A 5
= Sond v 1 Desd JodT

-u'ﬂy':jqf t=Fin ﬁ =
(A1 3 th)y @ (Cy 4 (N6
38} The price of 10 charrs s equal 1o that of 4 1ables. The priee of 15 chiirs and 2 tables
together s [ 4000, The total price of 12 chairs and 3 tables s (in Rs.)
1 S8 24, = g P osdo 15 Do Soain 2 dhaog sve i 1,000 @and, 12
e gomns 4 dang, 3o D08 (Heianiel) '
o F127 i ssaponed 12 2 npmr S5 g cin L =i S azd gus
s e d S
1A 3500 {13) 3750 {C) 3%4u (D} 3900
Wy ———
VI Y25 by JUS+ A 1540 225 =
(Al 10 (B 4 _ (€) 8 (D) &
) I V24 =4899, the valuc of 2 s
V24 180 sond, |8 Dend wos? T - _
V3 NPT M ENTLEE M
tAY 0541 (By 1.333 {C} L6353 (1) 2666
A1) The average age of 35 studenis o 2 elass s 16 years. The average age of 21 students
15 14 What s the average age ol remaining students? (in vears)
2 LA 35 Bo0l AR, R SR 16 H0BEmen, 71 F08 HIREHH D Aty
b 14 @008 ZoBDD Pee ik Saln) Lol T (Hoadoet)
i A e W B e 1 Pl e o 167 b S 3s L 2
(A 19 (BY 1 (cy 17 (D} 15
42)  The avernue wewght of three bovs A, Band C is 4= k. while the average weight of
theeg Boys B. L and 1205 83 ke What is the average weight of AL 15, C, [Yand 131
i k) |
A, B svonin O e ot oy .‘--1-; Brp B, D fonatn I o axi aobs 55 8.0 scud A
1. C, L svecio Lo ck oy Son? (8 mes)

I
A B CIRET e ) F 53 b INEB, DL A g SK 54 T i WCHIA R

I R - %" e
il A A 3
sl 3x=By =32,

= | LA

(A 524 ?r.ﬂbfphbtlm
fliy, 53.2

i) 558

(D) Data an adeyuate © Ssmentdo dfbosm &5

9313 {Sct - A) X
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43) The average monthly incame of P and Q is Rs. 5.050. The average monthly income
of Q and R is Rs. 6,250 and the average monhly income of P and R is Rs 5200,
I'he monthly income of P is - (in Rs.)
P. Q o Mo déciu de 5,060, meamQ, R o oMy Ao dssiu tn 5.2505ms P Re
i Do S6ain e 5,700 wod P oiog, Ao S8s 2087 ( )
darklldrﬂ’.ntl’: rF%l;&m}thﬂJiiJﬂnlﬂ_Fma 'I-Jl--.lll'.'fih..\"'l". Q

-Jﬁf&&r;}hrm;-?ﬁ.um '
(A} 4000 4050 {C) 4500 (D) 5000
44) The average age of a husband m;d bis wifie was 25 years ot the time of their nuATge
Afler five years with their three years old child, the average nge of the amily now
15 | (in yeprs)
wm%@mmmmm <0 QUETen. & mss@-amm
0 Funds RoST ancndt LBl fiono clol, Bk SEORY - (DosEe)
SeNibies e 7 iy WUl Joas P it wnt o L1153, L 50
?Jﬂk‘:ﬂr Hes fr®
(A) 20 ® 2 L) 22 (L) 23
45) The average salary of all the workees in a workshop is Bs. 8,000, The average salarv
of 7 techmcians is Rs. 12.000 and the sverage salary of the rest is Rs. 6,000 The
total number of workers i the workshop is ;
Bl DO &3 B Dkl B0 dn 1,000 Db SALNDR ety dso d 12,000
Ao LRSS e A 80 A5 5,000 sand, 8 3550 6 dwdo 304 Doy, Wos?
LS ans 21200005 s f L KT &1 B000NF bentf L 302 S s L
LR STy SRS ek 14600007 8
(A} 20 (B) 23 () 22 () 21
46) Thesumof | =449 16-25+36- .. = 100 i equal to (Sum of the squares of
first 10 natural numbers),
1=4-0-16=25=36+ _ + 100, (2053 00 Dnee du iy, Sefne Ansan) Suss

AEmEn?
S L8 P 1000510 1 44494164254 36 4-0mn. +100
(A) 360 (B} 365 (C) 385 () 3%
47)  What is the 40" term of the progression 3, 7, 11,15, ...
L NLS, el S 408 D00 aus?
s 2 a1 1,7, 11,15 ...
(A) 153 (B) 155 i€y 157 Ly 159
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48} Harmonic Mean of 40 and 60 15

A Aneriu A0 ¢ e € Togi g DoM T
F et > b B 60 40

Ay Sn (13 4R () 52 (m 42
493 What s ihe Geometric Mean of ¥ and 1287

¥ o 128 o e S iuu o'y
KT LS 2 K18

Ay 32 (B) 36 () o4 iDy B0

50) Simplify / dodgposdn  -Z A~ 1

s ll
2+ |
I+-
] 5 il ] |
() r (B Y {7} T (™ a0
Ji=-2v &

SN I, '_,‘j.‘;‘nnd v 1ltheny =
ix

g
ear o Sening T sand v Drod dos?
INely i J.T-.T,'I-" 5 3

y=lrmzailan j_':',,_zT" & 1

i) 32 (B) 34 () 23 Dy 35

52} Sum of four consecutive natural mumbers 1= 54, What 1s the difference hetween the
stjuares of the first and last nnmbers?
el S e Dode Bodo 54. Buck), 050 Doge Hrme S Dol ¥

Cad 28 L ad jf.u'% el e S AWt ar i .y

(A 6 (ny 75 {Cy %1 (D) 8’7
53} The sum of the squuncs of ihree consecutive natwral numbers 15 2030, What < 1he
muddle numher?

Famda B DX DogLe Ben Moo 2000 S s, Do, 0087
Tfﬂl’o‘-‘?.ﬂdkﬂfﬁ;-gmﬂj- ;fr:,!;.-f. HatFiF
() 2¢ (B 26 (cy 27 i) 28
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&)  Fund the value of &1t the vouts of the quadmatic equation Yx= 120 1 & = U are ical

amd equal.

O 12x &= 1ot SR et o i fudee w0 aeadio Sudnia aonty gondd £ Bes i
ol S el fiirnsctitaF p oW ot 9" -12r s d = )
(\) 2 w2 Wy 3 ) 4

£5) 40 ax dinided into two pats such that then prodoct ss equal 1o 319, then the
smaller part s
SRFC I e 40D Ao L g.mmma.ﬁguﬂ-ﬂwaimq‘m:
et i et W - JII"!J"I.-#'.!’H":- 4:"' h:.;r'"ufl.l-
tA) ¥ iy n Y i 21
%0) 306 men can complete a prece of work in 13 d:l'p ln how mamy days will 27 men
complete the same work?

WAoo fivipes S8 N0 1 1 et Qeg AY, 03 200 27 Boun pdw MY o By
Secdrinmh? VL g SN L &S ki L P Y Ll pd i s

{A) 18 (B) 20 (C1 2 im 26
£7) 3 pumps working 8 hours a day, can empty a lank m 2 davs, How many hows a da
must 4 puings work to cinpty the tank in | day
ﬁMME‘bﬁMﬁimﬂﬂm&badlnMJMﬁﬂuﬂfﬂmwm
6‘? mﬂﬂﬂhuﬂﬂ‘&#nw o8 Saitey !
I.h-f-.@p*ur-{'hu I'—-rl.illﬂur:r—@-{'—ﬂﬂaiﬂ'f-—nﬂ-r}hv"'

W S WL E S 4

1Ay 9 (R Wy n {1 12
-ﬁ

5%) 00 persons working ¥ hours per day complete 2 ol the work i 10 davs The
mumher of additional poivons, working 8 hows |ﬂ'l day. required 1o t‘-ﬂllpll'l‘l- whe
remaning work 20 daga™ 2
400 Boot Fi Mo Al @ dobe SHS 0 I - aﬁmm:::wwﬁ Drterly
mmmnﬁ#ﬁﬂh&*ﬂnm-ﬁam&mm”#ﬂm

et :-ug{.-‘ oy i (TN 5 ."‘."‘uﬂwrlﬂ.ﬂ 3 bt r 2 v Eosl foor Jriam
tSad ws Sl okl SN Lol e i n e S e
(A)] 278 () &73 (") 250 (M 225

%9) 2 men and 7 bovs can do a picce of work in 14 davs: 3 men and 8 bovs can do the
same i | davs. 8 men and 6 bovs can do three times the amount of this woik an
how stany davs” _

& Bpdtaioen, /7 rbo puendh 68 000 14 §ladd. ¥ PO 2S00 8 2000 o @3 DA

b Ehadt (e Sauiriod. 4 S000 JHspen Sudaiy % i eraut. o Lol tuedd S oF
00 5 St Lpa Jeodrieds?

....gI.f..,":_:!.;.ul.E PRes ;A WS 5 I ff.,.::.--uf,-l'..f-..’; Fpavie p2

L R Y- o A R fd;,rf.iff:t.r-ﬂ.rﬁ"n. oK

iA) 18 (2 iy A4 > 27
9313151 - A) L
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h
60) A and B can do a prece of work in 5 days. B and C can do it in 7 days: A and C can
do it -4 days. What is the time required for A to complete the work if works alone®
{in days)
A Bontn B e 08 000 § St B soday C v o8 00 7 Glang: A 2ot (' w ¢
, D004 Flad ipg dabded 08000 A a6 0 Fed ipg Jokidods? (Fhadl)
p 187 " wdfrl’-.fll:‘um .,.[L.;U'; J#:?:"Enlnfrﬂfr.grﬁff LS pELIBanA

l":_ 1 -L;:..l'uu:El.Ea.ffrf,J’A.Jf-wLfdrv-
’ 280 250 280} hl
W\ 55 | > ) ™ 53

1) Xand Y can doa work in 15 and 10 days respectively. They warked for 3 days afier
which X was replaced bv Z_If the work was finished in ihe next 4 days, find the
number of days in which Z alone could do the work {in days).

X, V oo 68 GO0 5650 15, 10 5'0¢f Sairon Do § Sha 500 D0 S S

‘{mdwmﬁam-wwmw.wwmﬂn@q

H = I'?.{..FJH.-.. s frf f.j#}u.l'l [ LIJJH:IWNH ;;ff-;ﬁ"i X

K I G E eV dlamd st A Lo b pmat nlts
(A) 40 (B) 35 (), 30 (D 38
62) A and B can do a job opether in 7 davs. A is 1= times as efficient ax B The same
job can he done by A alone in * (in days)
A fooaty B oo 280 28 00 7 SfaF 2no MLBM!-MM@M
Soneiods. & 2ogo HAD A u@qwmm.'
Fﬁrr‘ﬁ'-—i—ﬁ'#”r.l‘ﬂl-ujq*‘ BIRA NG L TN LW e 17 TN A

R Y T A

1 . 1 L
(A) ‘!_; (8) 1 () 114 ([3)] “_1

63) Atap can fill a tank in & hours. Afier hall the tank is filled, dwee maore similas laps
are opened. What 15 the wial ime taken fo Bl the wank completely? (m howug)
el Zem 2 e 00 1 Aol Duddedh A LoD D040 BHHes, mesuthd L0% dusd
Aeaen Bidngron o wsul DuderSl B Auto Ando Jul T okt
WL rddf v rlprgimi i AJe 1o oo b oo Faf @ o o
(LU DT i AV G

3 1
(A) 4 B 37 © 35 () 43
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64) Two pipes *A and "B’ can fill a tank i 15 hours and 20 hours respectively, White a
third pipe “C can cmpty the full tank in 25 hours, All the thrce pipes are opened in
the beginmg. After 10 hours *C 15 closed. In how much tine, will the tank be full?
(in hours)

Bods pdpoy N Soscin B 0o 58 an ol SN0 10, 20 Suld? Dusited de%gey (1,
25 dobd? Duth ot s Sadiiud. duvd Dopet Jusy BUo S by Boo
O R amidps. 208 Sikef & w0 jrars DothianT (rokd®)
i SIS B IO o s Lo O B 2000 EE NSt P e T DN IA
e ,.-f._!"f._.i,-'jl.; .?_:_.‘_-yf..h;rl:-.r!t.-rﬂ'lm -r.,,f'll- {..-Jrl"ul.f._q._lf-g.rﬁ.&!'ﬂ
(W T T g . . g
(A) 18 iB) 1o (C) 13 by 12

65)  Two pipies A and B can fill atank in 37 = minules and 43 nuenles respectively, Both
mipes are opened The ik wall e filléd i just hall an houe, if the pipe B s tumed
off after : (in minuics}

Boms pge A 005 B e 18 taosd Sdxam 174 Mludpes, 45 DdedS Do,
Dotk HoXyesi> BRSO BB, 6 3,05 I0DMIPE DAE0E, B 3550 7 DRy Bhamd

ub&u}p? -
Tl b rdof LS I P s e A L e an -"7%;I:11—'}:F'.E_!_§Im:m.'qu
(VT W ALT E P VTR 5 N T TN CR = g

(A) 3 (B) 1u () v Dy 15
66) Acaris running ot a spoed 108 kepl. What distance will 0 cover in L5 seconds? (in
melers}
* 2 il 108 8 0oh Sio® Davediinon o S 15 Mad® g Ay dintio Hoteru

" dxgon?
QLR e S Ml R A 15167 o Saram DS 8 2 K ronew

(A) 450 (B} 45 (C) 55 (@) o0
67) The ratwo between the speeds of two mams is 7 ¢ 8. [Fthe second rain runs 300 kms
in 4 hours, then the speed of the first train is @ (o kanph)
Butho g Seew B0 U, Buas Beo 4 ok 100 S DoxnEy Busd Fe ol 3o
wol T (880 o)
S ISP 7 a0 Fk t i aioiv e Koo 28 oo Sine 1 800 5ot 200
!JH,MI‘.E:I ..*-bf.r:l..-ﬂ;
{A) 75 By 84 {C) 875 () %0
68) Walking a1 10% more than the usual specd Ramana reaches his office six minwtes
carly. Find s vsual rime to reach his office. (in minates)
et o dolf 402 s Srolf dibe adh abvum ¢ Ddudee dnodh dddouth
e sl Jmmnd o vt 0o Dok T )

-JHEFJDJJJFJIJJL.";FE.ﬁ#ﬂfﬁfp}TFJLH 'Lsggf%-!-iﬂ-&;-l-.iu
fLus}
(A) iB By 21 (C) 24 (13 28
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N

69) When the distance between a policeman and a thicl is 150 meters, the policeman
stans chasing the thief. The policeman runs at a speed ol 18m/sec and calehes ihe
thief after 25 seconds. What was the speed of the thief” {in m sec.)

28 b EPOR aiyEFEsas Decd Mo T B, oo 150 Sukdh, S6ER 15 L2/
Srbod® BHAE Shurkd 26 Aol Bt adpttol tRor aus el St (L /)
..ﬁ;.-}r-:f]l,;-‘fi_."-' :_f_!F,-"ﬂ'ISDJI-*FJ?..-ll‘...]'}u._,ﬂ:l,-'u:“.!..t :uﬂ","‘.t'_.idl'ral’;n:u':.;-f

TS LT IO T IR Y QST T T I PP )
(A I8 (" 16 (Y 20 a2
70} Atrain travelling at a speed of 72 kph enters a wunnel 4 km long, The tram is 5 km

tong, how lomg does it take for the train to pass through the wnnel? {in sm:nnriir.l
a8 o 72 88/ o 3ot 4 Ao IngeE wel LTS S08 pTsoton. P Bedd S0
waud o 5 LIST CrhmE ol HEnbo HEeD T [AEET) .
i AT _: Gl el o 2 Falu S A e SN F LT
P TN g T PP W
1A} 250 () 178 20H) (D) 225
71 1N a boat goes 7 b upstream in 42 gunutes and the speed of the stream is 3 kmph.
thien the speed of the boat mosull water 15 (in kn'hr)
&8 DES DiRanD witn - Blue ceeg 42 Dk SEondon Depieo S 0 Ao/
ok el Db Heled D Ao oot (Au/dobé?)
e A N B D K B MR e e WA K rme S S T i
(ARSI S n PO S 2 ) el
(A) 13 {3 9 ) 2] (m 42
71} A boat takes 90 minutes less 1o travel 36 miles downstream than to travel the same
distance upstream, 1t the speed of the boat in sull water 15 10 miles per bour, the
speed of the stremn s (o miles per hour)
28 D Ut 0, BADNDUDT BEREATE eors 3 BBoay. kD Wchim S i
soff ue: DR 6205 Dol DTud Heda® DeSasa 10 el ik WowB pErae ko
RUEST (Foentholsr®) i >
Qtab Moa. e ool oS L. Jrfd SE 0 wi L
(e NS Bafnend e 53 W0.0.55 2
(Al 3 By 23 () 2 (D) 4
73) Find the ratio m which nce ar Rs. 7.20 a kg be mixed with nice st Rs, 570 a kg w
produce & mixture worth Rs, 6.30 a kg.
dr 20 e Saind, d» 5.00/8.0 daijed® D 0086 SOLE Sagto Bodo L
e 5,30 18 P agnBou |

b16302d Srrel b Bowr s S e S D 10530 Do Fd a0
S emp FD

(&) 1I'3 (B 2:3 iy 34 (Ny 35
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Negative ny; o 3y her
74) The cost of Type 1 rice ss Rs 15 per kg and Type 2 nice i Rs. 20 per kg, I7 both
Fvpe Land Type 2 are mived mthe ratio of 22 3, then the price per kg of the mixed
Vaniety ree is - (m Rapees)
£ 1 oo e dde LG/ BOuci 455 4 B S Gos, 20/80p O3 doth e X

¥ R0EUY HDled Dl Dottt S L 8 py LJon 7 (G
-lllfﬁ*;d‘_"__*1?11:?";&_:?31}.&#';“?1!_-__%.r:iﬁr' n.‘-El.;;Jlklt;-:r
el e ._'--ffur-r;}'_fJ-f- R R T T i G Py Bfllq...r't
(A} 1950 () IX:0 iy 1R {1y 19

75} A man borrows [R5 2,530 1 be pard back with compound interest 2l the rate of %
per annum by the end of 2 years i iwo equal vearly instalinents How much will
cach mstalment be? (o Rupees)

i A e 2 42 Do O Bt Grsds Sanfed Gut SRR Buts) HEOND
s amonomet oA 2l D S ey Do Vit AP ? (Cmdnrng )

J:l-"u-:..'.:'ldh | u'.-_ﬁ-wh;'}.-.-? for 2 Jf:*ﬂ-}-’ﬂhﬁﬂﬁr Hw-f'
Ll P R L PR
{A) 1377 (s 1275 i<y 1283 () 1352
76p What 1s the rativ between Arithnatee Muan and Vehan of the following data?
A0 Smeohf, soiugh il e G dagh fie w0 e gy SRR,
#fﬂg:,:f LIl L T #'Q Bows
10.8, 18. 4, 8. 24 -
(A) 32 (4 43 () 65 (D 125
77 IF4 persons are invined Ton o pari. find the number of wavs in which they can be
seated around a table along Wil the ot ™
Aoty T 2 i 2t R L Dot o e, P mmwm w8 rbudd
A ) Hord Sxbvm 00 Mooy = And A e
: ce TS N e Paliita R 1ok L PR LY T PR
{A) 24 (M 120 (') YA (ny 30
78) IWiwo dice are thuown smualtancousie, what i< the probability of the sum of the dots
b be seven?
e ks EwOrivitny i Ra AR TR s S, L L g bl & aditsadd 3 LIS Dl 7
AT g o VLo ".::- -'fﬁ-fa-i‘u;kﬁ'q';k‘r—* #L{f-}l;n

1A) %, (M 4, wWr % 4

79) The biman cquoatent of e deounal number 1255

Chbrnadl conaditn, |, "l b o oSl eing W P el ISR DD,
Vet A K1 250 o ltm
(LAY LR iRy 1w () nim ({2} Hooo

8 A={LZ5 79 U and B - 35 7 11, 1% 15! What is the valne of AriB "
AL A9 Hlsvan B - 15,711, 13, 15} sond AR D087

cSrdedd ARBI = 571000 15 A= [1.2,5.7.9.11)

() '“4 SR ENL A '.‘} sy t1.2 4!
W) =Tan (D) 1L, 13, 153
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&1) If the length of a cenain rectangle is decreased by 4 em und the width is wcreased
by 3 cm, a square with the same aren as the ariginal rectangle would result. Find the
perimeter of the original rectangle. (in ¢m)

28 Bef o0 ot A 4 Ju. £ 800, Dot 3 bo b dodrsiond. S SdisgEL
TN, oarves Z ey R0 Barvey 2o ey SEIGICS Ses-Sko0B. Foised HeRiioea s,
HoaT (o st
i'._}‘-u-‘.:ﬂ,,?.;'l'ﬂ_,.r_E'lFL?ﬂJhxﬁdkﬂljgnlLlfJJf:‘:H d‘;’-ujl_.-idrye?_{l
- 0 L T TS TN i 11 Ml S T P o
(A) 40 {3} 50 Ly oU i) 30

82) One side ol'a u;lanhula: field 15 15 m and one of its diagonals s 17 m. Find the

area of the field? (in m-).

-8 ¢ ST OR Hodin ook, &8 Hadn mmmwﬁgm 1/ &> wawd & Hesy

o8 Darvey S SR, ('8
{def]-fnﬁ',uﬂ.’a" i HE VTR SV |5 & i
(A} 100 (B} 140 (Cy 120 (Dy 150G

83) The perimeters of wo squares are 40 cm and 32 ¢t Find the perimeter of & third
square whose area 15 cqual to the ditference of the areas of the two squares. (i o
Bod Sodpdue Sobyttagns a0 o8 S av dulh. o dud Sdde fmase
A D Burado o SeGs SRR OX0E, MRS e oo 7 (D L.
W F N A A e NG e e A 32 M R a0 T P e s

Ve g dnrae J.0 -
(Ar 4 {3} 30 (Cy 16 (N 18
84) What is the madius (in cm) of o wheel which covers a distance of 682 m in 31
revalutinns?

et S, 6.2 foend e 11 gL CobiE @ i oS, £n Dy D06 T (D0 foe).
CERFF e r Sl b 68228 2312, i B _idy ¢ I
(A) 28 (B) 35 ) 42 (L 49
85) Find the ratio of velumes of two cuboids whose length, breadths and heights ive in
te ravoof 3 -9, 14 1 and 32 | 9 respectively
Emipen. Briene FOn e SRl 317, 141 11 Senin 2 ) DS e Boatls DS

SRR SRS DRI a8 W0l ¥
Sy lds 1] a3 ']l';hf.r.,..--Efua’;t;;t&!j.{tdLJJur.ﬁrff1""..-*"1.;...-“95'.;...*:

{‘Fﬁz L]
{A) §13 (B) 7:6 (C) 8:5 (D) 4:3
86) The sum of the ages of a father and Ins son is 55 years. Five years ago, the product
of their ages was 350, What is the present age of the son? {in years)
2 B Fopoms BmhA Sebidon Judin 85 HOSEoD. S VOIS Ak, h0 Bl
D0 450 DRG0 G, 0 ST J08T (HeSEoE)
\ el e S d 30 WS Uit S e S 85 A S o

OB B) 10 (€ 1n (D) 13
9313 (Set - A) I8
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87)

88)

8%

90)

N}

-

A persom’s present age 15 twa-fifth of the age of his mother. Afler 8 vears, he will be
one-half of the age of his mather. How old is the mother ai presem? {in years)
LS8 olog S S weD HESADNGF 2,/55 BoKs 3 DO B B8O ANy,
MQWﬁmpﬁ;ﬁnm*mM?
CER ESOPISRT R AT G0N LN A N A N B Py o e
S nprnr fdo

(A) a8 {[3) -0 (C) 32 () 36
A shopkecper sclls an article for Rs. 840 and pains 20%. Ar what peice should he
sell the anticle to pam 30°5? (in Rx.)
et Boseaenaddy &8 S0 U Band B, 0% o Mol anx oo Docsstolf &
ERE0 ol SO o280 T (Cedeobe®)

Jint /e Bo10a i etV 08l Sat,jt s 8402 L1 ¥

(s (FF ¥ ] ::?J.II‘E‘::-’*:;&E

(A} 900 (H) 960 (C) 910 (D) 920
400 mangocs were bought at Rs. 1,250 per hundred and were sold at a profit of
Re 1,000, Find the sellmg price per dozen fin Rupees)
400 SefLd Do, 1008 8 1250 PSS 5D, |00 dedeniie el edy i
Faudasr ol ST, ) P B s, 1000: 51 8 2 2 & 21250/ ¢ T 800
rS oy
{A) 150 (B 140 (C1 200 (D) 180

I 42" =64. then the valuc of 15
v =84 sowd 1 D
I T O N N oy

(A) & (By 12 (€) 4 D) 8

[ r
In above ligure, AB and C1) are intersecting st O and £BOC =40 Find x.
p Db, Al dopate C1 e O 80 polomsraoangn. ZBOC=40" sond x Deos

ua?
Kt P L £BOC Y 3L S 0817 C0.0ABL SEi L s

tA) 107 {B) 40° (C) 30 (D) 20°
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u2) A

i 1. L

In the above tramgle ABC. AL s bisecto of ABACJERL dem, 10 3 cnand
AC- 7.5 em, then lod AB. {m cm)

P 8gmo ARBCE, AL, /BAU ctr, eipnmdgeta diy B 1008, L0 3 aeds

Zeociny AC, 7.5 Do doen o, Al D reols i (i D0%),
FRRETACE IS A EELC 225 A, i b ALLZ A IABC

_ e e N AL b
(A) 10 (B} R iy 6 {in 12
93)
In the above hgure vy o 3 403 then find w.
pabdosd x o 340 S row Sn BT,
-+.-'Ff|'1""u‘5L;W:’H Riy:rw3d:d: 5,;:”._!&!],.&.."
(A} R0" (H) 22 iy & (M &4

" A

I the above liguee |, and 7, ove paralict lines. Fmd 3,
P Deoaner /| [ e 580080 Spes. 1" Hend SRt osn,
e 2SS La S U by o AP Ul

(A) 15 (B) 45 () A (1) 60"
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ns)
A /
I3

¢
D E
In the above figure, AR and DE are parallel. ¥ ZBAD =110° and ZBEC = 30" then
lind ZDCLE.
Pavaudt AL DL e Ndnods Bges, ZBAD =1 1 feacs LDEC =30 gond SCL
Hahd st ;
P LDEC = 3000 £ BAD =~ 110° ALz & ond sls DE I ARL 0102 P 003
) S LDCE _;
{A) 70 (B) RO 3 (U 6 {y 5o

%6) A stadent mulriplicd a number by 3 nstead ol = Wikar is the percentage of crror in
the calculaion® : .
18 DR D S DomA T neheorn T o 2 S SHhes0 20S?

’ i . 3 5
-uHJHuWHEJ-,-L’u"FE?{-EJ-.-fﬂ EL*FJ' 3 At
(A) H% () 44¥% ) S4% (D) 64%%

P7) The price of 12 pews is equal 1o the price of § scales. The prive of 4 scales 15 cyual
t the price of 10 pencils, prce of 5 pencils is equal w 15 erasers I price of 10
_penCrasers is equal to Rs, 20, what is ihe price of 2 pen? (in Rupees)
et 173 Do, S Bash SAAE 4 g Se. 10 D0 S Dsno 6 Ing Be 1 ot
Lo Pedh e, 10 Sy D0 G, A1 eowd, 24 Ity ilog, Bo 08? (da.e)

- -, . s

! - .f-..'l ;-E.-.-‘.JIE.-l'_H 5.Lﬂjﬂ.---;u-g|.F'|..|-'|"a [ﬁf:'.kr"‘.rl'-.-g-.f:lr-':-a:r'ful}f' H-:-F-F.If....; 12

" '.';.r’_-!-*;.é.j'..-.;..;’u‘rnr,.uru.-fh,luﬁ.;...f-r.-
(Ar 10 (9 () 8 () 12

24) Aand B onvested captlals o the satio 4 2 7 o start a business. A is the working
puzterer and manasing the business Whan percentage of Use total profic may be given
as salary to A 5o (hat their incomes ot the end of the year are equal?

A 3 o4 7 SO0 Samedianats dtusdieg uf sadetan eduguoo. ‘A e

DfyAneaz LofBatune Sal, LUDBoBEDR S0P o tmue Sud o) A8 B

GO NS SCRnNRe LU e Y
--:_r.l"rf#'..;.nrJlréﬁfd;i;.-fJ’:!A-;.gLﬁ,Lf.;-..-Fiq T S L B A

LM uine La i ingr LaF AE e 207 LI

3 o 5 _Ll.in:u-'::.-
LA -175 F (B} -I?ﬁ- i) 'EIF"} (m Ela?-ﬁ
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99)  Astarted a business by investing Rs. 50,000 Afier six montls, BB joincd the business
with a capital of Rs. 80,000, Al the end of the year, they carned a pealic of
Rs 27,000, What was B's share in the profit? (in Rs.)

G 50,000 ARDBEE A e o deenp) Dedopodin. ot Joo o ‘B, de do000
At oadinuee J3 DUSEoROBR0 THOB B0 eegiin . 7,000 wed, sode
I3 Do, et w287
SOl & 1007 £ BNt T s P e ot p ks 300007 2 L1A
AT PVBLE P L 210008 e M P Sl et n L
(A) 15,000 (@ 1200 (€ 18.000 (D) 13500

100) A, Bmd{‘em#rmmaMmmme:mnnfE ig Atthe end of the year they

camed a profit of Rs. 36,200 What was the profitof 'O {in Rs.)
T46

A B C, mmmw;-i;wwqﬂww

0L D 1200 engio 35 @ gl (T (i, S JoB 7 (dadeandt)
T 4 -IF
{ul:u§ul'ffﬁtf.ﬂ’ﬂ:g:hﬂ?q§i.f

(A) 8.000 (B) 21000 {(C) 7.200 (D) 7.600
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i rking is
Dircetions (Questions 101 fo 105) : Study the following pie-diagrams carcfully and
answer the questions given helow.
ARdes (dw 101 #0d 105) : fob p-Ogrods mPEm™ efanto 3 fob e
AR DD,

- e R e -I-'-.':"_-i‘...r.ri‘n‘p'.ﬂﬂ‘. S AT T [ TP

soiziey

-l—_.i'li'.il.pll..l"l" .If

101) In the human body, what part is made of neither bones nor skin.
ERHS MBS D08 gmiin Sfntn Stodl SR £06 d?

5 1 -.gpdf;f:.!‘,d:muﬁ{si'fiﬁduj
wy @ (e e
102) What is the mtio of the distribotion of proleins in the muscles to that of the distribution

of proteins in the bones?
wyﬂmmm@yﬁam QA DoBT
FLeL )

féu!df:ﬂfﬂ{#‘;l}‘:‘rgruﬁr{
(A) 1:18 B) 112 g:'ﬁ 3

D) 18:1
103) What will be the quantity of water in the of a person weighting 80 kg7 (in kg)
80 &.op wthgg e S8 Sheas o0 S mison St dotnoD?

{L.ﬂr'l.r‘r:r.'l* Js{;#.-i-l.mkpﬂr“e Ejd};rlf,rm

(A) 40 (B) 48 (C) 64 (D} 56
104) What percent of the total weight of human body is equivalent to the weight of the
prateins in skin in human body?

e S oD SRS nm Bps W50 DB Dos el Ko 7
_ T s 2a¥, J.;;ﬂ#g#:kwhﬁffwhﬂ;f L f"‘qjl-h
(A) 1.6 (B) 0.16 (C) 0.016 (D) 1.06
105) To show the distribution of proteins and other dry elements in the human body, the
arc of ihe circle should subtend at the centre an angle of ;
Bdey oot 956 nd somemo Hobt Hndea08, § 80880 8o Fogo 5§ o8 Suo

afy 7 )
ar'g *‘inﬁf“‘izd:'jll;‘r‘?lﬂrﬂzlhﬂ';’-‘?'ﬁil.{hﬁﬁdut
{-?‘k} 5..;1;':' (B} lzﬁu {E} T . ﬂ:]} 2525'
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Dircctions (Questions 106 to 110) ¢ Study the graph and answer the questions given
below,

ARdites (D400 106 Mol 110) : fon pHO
Fepzlaiird L, .-:.;-.;*.-_J?..:-Jeﬁiuﬁ.j (110106 = 014)

Price Index (2007
SOt S N by ey (2007-08) g e e

NV

hmmm“ﬁhim

106) Which month showed the highest absolute dilference in the Consumer Price Tndex

[CPI) over the previous month?
DRCENIgHLe Soe e dst D By LoSD Fonth Sub =6 08 SoidgEnd <einon 7

(A March/ang  (B) April/ape  (C) May/S (D) July /w3
¥ b 5 b i e i i uﬁ‘.ﬁ,;tﬂ-dﬂpﬂah#uﬂ#ﬁ

dis Tl Lt @ (A
107) Which month showed the highest percentage difference in the CPI over the previous

inonth?
Ancinioete m e D A Suoth ol sl 0 Ssewsad Shmd Sod?
(A} May /s (B) July/emg (C) March/smg (D) April/Spd
1"1..|J|JL—#&¢J*IUIF'-$-FEfGTt&LTH-ELI¥J
S m T Jus () o (A
108} For how many months was the CPl greater than 3507
n\% mmmaﬁaaamﬂmaﬁmé.m?
T

EET &

EE

wo / Bath (B) Four /mmenr

(C) One /esd (D) Three / sy
e sf e 330, AR ol T 2
o -y (M ar (LAY

102} In how many monihs was there a decrease in the CPJ?
aﬁa@_mmm G oD BEvDOs AERD sonot T
{

A) Three / st (B) Ome/ass
(L) Four/ amgorh (I3 Twao / Bod
P T s e e e e BT
P, sp (03 ~Lr B uf  Ag

110) The difference in the number of months in which there was an increase in the CP1
and the number of months in which there was a decrease was

Diderbedodog (e e’ Drirbiy e oo Mo, b B 0o Aou

2003, 5555000 DOMT

{A) Two / Soc (B) Three/damd: (C) One/z288 (1))  Four/ et

i a2 L P TP o s P ...;l,-'-.-._.pt'.ﬂ.-‘-ll'uﬂ sl F g e

eI s d STt

‘i M -5t () ef (D s LAY
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Dircctions (Questions 111 to 115) : A wooden cuboid of dimensions 9 x 7 x 5 unit is
painted in the following pattern.
Thnmappnnm faces are painted in red. The other two opposite faces are painied
in green. The remaining top and bottom faces are painted in blue.
The cuboid is cut into 315 small cubes,
Based on the above mformation answer the following.
AmStes (Bgoo 111 Hocd 115) s Sram, 6 Juasn o, Peses 9 x 7 3 5 o d0d, fod
Dsoos Soth Sabadan.
mmmmﬁmmmmﬂm&m ]
Serdedss. O30 pyiam, 8ol grmet Sootord Aabod,
A Jupnnd 318 OF Susssiness SH0000,
2% 43 Mnnoeonl) oosdo AXuE™ fon Hiueh Ateeeonlisy,
ul--*w.f-pjglfuﬁq.dﬂ:-rus AVt el g il Lise i s
gttt L W e 0 vt Fonle sy WV T e Ju S o
F = ol 3 s FJ'."‘-:H"I.FIJ-'{ Ilnﬂfl‘c'l.‘-r"rﬁm-L AL Anss

T s
111} How many cubes have all the thrce faces colowred?
o Fuiisinon Awo Sand Bogro Sorh Saned don?
(A) 32 B) 8 (€) 24 (D) Noneofthese/ 2o
Wessnr Kegus puf £ AZ
Sl TR 2 (A
112) How many cubes have mﬁ:umiuuud‘?
o P00 Sotly Saqpoth dorh daiiod 4on?
(A) 60 (3) 142 (C) 105 (D) None of these / 2dmen
e Jlﬂl’-ﬁ{ﬂlfﬂﬂrr; .r-F'E
S A @) 4z (8 0 (A)
113) How nmuny cubes have one fice :nl-mm:d'?
o] BB 2.8 Smd Sori Jobdad 4507
(A) 71 (B) 105 (Cy 142 () None of these / 28
W ssnr Kige o S1E KL
I ey m 142 () s @ 71 (A
114) How many cubes hive no face coloured?
Y oS Sugsuol sves Sord Soboddt?
(A) 60 (B) 1los (C) 142 (D) None of these / Sfenen
Tl - T r'—l-'.r.;.l... _,..rq.l"'".'ﬁ-"-ﬂ el 2
A 142 0y 103 () &0 (a)

115) How many cubes have two faces coloured, that 100 red and green?
MMMWMWMMM?

(A) 14 (B) 32 {CJ 28 (D) None of these / s
T FTE _f;l,.iprlJ#furfuﬂl P ._..-F'E
WL AT FURT 1 ‘e gAy
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Nesative i h n
Directions (for Questions 116 to 120) : The following table gives the trends in foreign
trade for the years 1986-87 1o 1991-92 Trade balance is defined as the excess of exports
OVET Lmports.
mnmm tagm 116 ol 120) : Sod mg Hd8 0248 srda, §dimess 1986-87 oo 1991-92

iﬁsﬁ:m I8 2w ety eiScm Dtiosombe SO e i DrDE0D DR,
1—93“9@15-3?:...";#.'-'._1.: il W AP s o s I 120 F 116 =iy

-i..[?_".L. rrlu sl AT sk i T T n I gaT F ;_f’.q_.drdﬂﬁjj

D38 sdeoff Fiman
Trends in Foreign Trade
1] A P P t:l-.'l'g.
(1986-87 to 1991-92)
Year Imparts / evbsodam Exports / debabomens
RIoESHD {R="00 crore) (Rs"00 crore)
- (ot &4 [@od 5%
g dapraset) g ssnng®)
{H:Iq__x.r.f.lﬂ Coks Bge a0
1986-87 210.0 1260
1987-88 2310 160.0
1988-89 300.0 2100
19589-90 3752 294.5
1990-91 465.5 350.0
1991.92 510.4 470.5
116) The trade balance was lowest for the vear
wEe AR 2inh RiAlelly 1R RO |
"ﬁ ﬁﬂrﬁ flﬂ&.ﬂ}dkg{ﬂf}d‘ﬁ:}:.ﬂf{:—y
{A) 1990-91 (B} 1987-8% (C) 1982-90 (D) 1936-87

117) When was the trade balance, as percentage of exports the highest?

rbEuEef G5 e diug, sago D HoSitod a nsos 4007
MalosJlrr uilic orbadsT o Luix Ukl

(A) 1990-91 (B} L989.90 (C) 1986-87 (D) 1991-92
118) When was the trade balance, as a percent of exports, the lowest?

achuidgl G ar g ding, mdo D HodSlgod Son?
Tisefesr Jie ..H!rr;.,..-'li'..:.-uf,.g b‘t;-_jl_;::'d.i[.uf

(A) 1951-92 (B) 198990 (C} 1986-87 (D) 1990-9]
119} For which year was the percentage annual change in rade balance highest?

T ?ﬁﬁbﬂﬁﬂﬂ?
5 smpofid® o 8 sy :E%ﬁ ,Hi..&_:;wﬂj;.,.ﬁig;u—mwmgui

{A) 1986-B7 {B] 1990-9] (C) 198990 (D) 15991-92
120) In which year was the percentage annual increase of exports more than that of
imports?

& HosBtod ool mod  Bcbeiorze sraE dedy ee Bof] v dofT
Tigr L-[J"'..;I..'anh-l,.ufuu‘l;ic.a.*;f--.:-l.tf.m_ﬁ.ué;-ﬂﬂ-
(A) 1990-91 (B) 1989-90 (C) 199192 (D) 1986-87
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Directions (for questions 121 - 124) : Read the following information,
A.B. C, D, E, F and G are seven players. They form two leams of two players cach and one
ream of three players. A and B cannor be in the same team. B and C cannot be in the same
team where as E and F must be in the same team. G and D cannot be in the same teiin
AmSHos (S0 12: B0l 124 5ED) : 00 HESANED B{fEm ShHEL
A, B.C. D, E, F focin G e S frede. ob Rid iy So oo, dutpos®
68 e B, A, B oo atbaen uf d5¢* 606, B, C oo aopn 28 e dodd, b
E, F e angién &8 d&ef dotrin. G tona 1 e e o dorich.
dm o P L I e (1240120 fmfia)
L g0 2 € S P T T & sy g I - G A BLG DT
2 s s e A LD e T B AT O I 2
B A LD O S 22 AT B 1S e L e Bl A )
121) If €, D and A form a team of three players, wheeh of the following can be the
members of one of the other leams?

(A) AandE (B) GandB
(C) EandF (D} Both(B)d& (C)options of the above
C, D oot A eo s il Sovin 3%, Soo 9oef & laneeten dutise Soh divedf
el RO DO Golnth T )
Inmnﬁ:E (B) GmoctyB
€)' E sveiain D B) 2ooasn (C) Boddimgpana
} n_.g:EF.nm’dmfuﬂu.a:;:'a;":!‘._;L[ .rrfq.r};zufcfnn-c.nﬁ
ComJ:Eudy (I F B () B.arG (B Essl LA

122) IfE, F and G form a team of three members, then in how many ways can the remauung
two teams of two players be formed?
E, FF sueors G e suwtied defw oo diver 2088, of dovenrm sgith H90,20 e o
Sod e DT

. B E RSt e B AT ol n@ Sugifef SLGnEEA

(&) 2 (B) 4 ) 3 @) |

123) TF D and A are not in the same team. then altogether in how many ways can the
teams of two members be formed?
D monto A e o8 dSo0! H5ded, Dugo R tsenon wgit) Ddefend S HEES

qu.;":EI... lHr‘-‘ﬂhU.ﬂ!ﬁn;aL)Eﬂ-ﬂJu‘#u‘r‘lﬁ—i'lﬁﬂinﬁ -

(A) 4 (8) 7 () & (Dy 5

124) If B, E and F forn 4 team of three members, which of the following cannot be the
two teams of two inembers each?

B, E sooatu I o sriyeh fawencoo dions 608, Sonemd 6 S Bos éen atd fpetien

&w dSen mily?

_F et B Ao da e Sod O craaB S
(A) ACGD (B) AD,CG
(C) AG CD (D) Both the (A) and (B) options.
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125) Ramya moves lowards South-East a distance of 7 m, then she moves towards wist
and travels a distance of 14 w, From here, she moves towards North-West a digtance
of 7 m and finally she moves a distance of 4 m towards East and stood al that poaunt,
How far is the starting point from where she stood? {1n m)
oy, eitfol 246 7 & Rodadod, Sthod ad D Hac 14 Sokotsy Batedoling. e,
Rood, w5 oD, Ko 7 folotls Sotllon QStm Andeiagh 4 Sty DodhrioD e
afiof). & aates Sow 0 08 JoB Sndodt 4007 (Sukdd’:

N T e Jl.f.lﬂ'ﬁ Hf}#g’...Jﬂ!-_Ld{xT#' JO/ ity
e rediami_e Je LS E KA d0  c e A BB Tlcar §
I S S-S P Y
(A) 3 (B) 4 @ 10 Dy 1

126) X and Y start moving towards cach other from iwo places 200 m apare, Afier walking
60m, ¥ turns left and gocs 20m, then he turns right and 20cs 40m, He then turns
right again and comes back to the road on which he had siried walking If' X and ¥
walk with the sume speed, what is the distance betweci themn now? {m m.)

X, ¥ o0 sxdilin 280810 StPsd 200 L toncodd i Sot plase moud nofeofiod,
60 80 GO dtaed, Y DD 8ol 20 £0 B0-0, de 508 950 Sof 40 Lo 53350 "
B £l B Bod, 885 Rodinoh S-S 696 Jind Saun. ;{.Ymﬁwaﬁ% -lL.',I:;
OG0 CIRD e Y M} ———
n%djf yq&f:}%'r.-u: o .-!vE S DBl SE e 200 £ S LY X ey
N LT PR R R Pt i et SR Lo 0
.:J.n..l'"ﬂﬁ?-al-..l.hL-nﬂaLru.n'uI.,-t-i.Ebt,-ﬁwun-_.ll.ﬁ.;.-.'l:y-f.;.*.d.-._}"lg,t.-r}-
— T e it an Y aa X
(A) 20 (B) 30 C); 40 ) 30

127) “A" walks 10 meters infront and 10 meters to right. Then every time niming 1o
his left he walks 5, 15 and 15 meters respectively. How for 1s he now from his
starting pownt? (in meters)

A, 10 Subth Sooth B0, DA JEH 80 10 ooty BB o), Scoms DOME 65 Gl
D55 adhin E5o0s 5, 15 dnatn 15 ol S, ©die Bobendess Ao Dol
@08 (ol danm? (fuges) )
b e L AL e Ce X0 e U st D2 a0 5T A
{2 e Jr-f—{.hu'tjl{f.:-rﬁ*i]!ﬁﬂ%- =R TGP e D A 15005, 15 dlre™ 5
(A} 10 5 (C) 15 (D) 20
128) If January 1% 2013 is {alling on Tuesday, what day of the week falls om October
0% 20137
1 2013 dooriiostio wond, 10 e8inb 2013 & e egron?
ﬁu‘:&yf htamtio (B) Friday / dtenso
{77y Tuesday [ sootseardo (D) Saturday [ eDosio
U= (013 NG F o & el B e Samiat 2 F A
(D) S o I =0T (A
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119) On what dates of November, 2016 Friday will be falling?

2016 Hoddtod® Ndond M DHEmo 0,30, SRgo T A
- -rﬁJerﬂmiF?ﬂfh‘#ﬂ;#E‘”L
(A) 1™ g% )5h 270 g 34, 10m 17 240
(C) 5 12% 19%, 26* ) 4% 11*, 18% 25*
130) What will be the day of the week on 15" August, 20207
L5 iy 20208 D TG0 ST 4
{A) Thursday / fisdbemdo Saturday / a0anto
(C) Friday / ®gmtio Sunday / soeeto
Ko ¥ sy S20000 1 ,>
AT (D) “£ (C) =4 (D) =it (A

131} A clock is set to show comrect time at 7 am Monday. The clock loses 15 minutes in
24 hours. What will be the true time when the clock indicates 6 am on the following
Friday?

&8 (80sRso ifoamndo SGO000 7 Hobul Riics dEiccio SeboDon, B Hdakto £8
24 Bobyeth 15 Huipes SGihol) Bthant Lo doPo ¢ riointo & Aotianm Hidvabo

SRl B0, HOOT HIADO DOBT
(A) 6:15 am Frnday / <ogoetio (B) 6.30 am Friday / «0goedio
(C} 7am Friday / Sgmdo (D) 7.1% am Friday / goeso
e L 2565 o Dl rs gl 20 13U S N8 230 8 £ 78 S st
_rﬂfﬂlg?UHFJEﬁrd;Jr
plofatar30 s (B) el ar a5 86E Ay
T TP T o Y W2 &I ()

132) At what angle the hands of a clock are inclined a1 15 minutes past 57
5 fobo 1S Do ARG Bodh By Bog, 560 Dod T

o - r..ﬂ-;,:rlsfﬂjtﬁr{.f.{.ﬁ_ﬂ'{“migf‘. X
'@ 67 (B) 38 (C) & (D) 72
2 2 2
133) At what time between 9 and 10 O” clock will the hands of a watch be together?
(A) 50 min. past 9 (B) 'l?%mm past 9
. -
{C) 45 min. past 9 . (D) ﬁ-imm past 9
s::mmmhuwmuumma =0R Gowman T
(A) 9robesoD @ s 49—
(C) oo 450 (D) oo 48—pn
-cuflrl..rn.ﬂl.‘rlj#ufﬂ;d.yljﬁu,r’wruﬂ{.,.I-Ilulﬂ
:-n--“ﬁ-#ﬂ (= ca-3089 (A
=T Ao (o PREPEY TR
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134) A watch which gains 5 seconds in 3 minutes was set right at 7 a.m. In the aPernoon
of the same day, when the walch indicated quarnier past 4 O'clock, the troe time it :

(A) 1%::.&.. past 4 (B) 59> min. past3
(C) 4pm. (D) ﬂ%min.past!

20 3 ANTPoED & Do Mol AN SI5aH0 7 GOk Honi Hbalo Sndo
Bench. 6 G onam0 @ (BOINGO 4 oL 15 DIDIP) DD LS BED M0

Ao HOBT

3 7
(A) 260 20 (B) 36090
(©) 4o, (D) 370, ss-l?im

ﬁfyﬁ,ﬁa@:f!-ﬁﬂ J}rgﬂ.ﬁfﬂﬁ:h{_ﬁ Mz .H:M#'Hﬁ_ﬁr..:l &
' T PR TSROy

3
Ty I w25 A4 )
nﬁ-!'ﬁ o) Lammn (O

135) Pomting to a photograph, Kiran said, “ie is the son of the only davghter of the
father of my brother”. How Kiran is relared to the man in the photograph?

{A) Nephew {B) Maternal Uncle
(C) Father (D) Brother
8 P*D cinideo B ois Do S, " e S DESHA Bod (o, 68 S0 B
Bod PfaFfef 6 A8 Svbolpoe:?
(A) oseudo B S
(C) =oB (D) dsccm
£ W S5 e oV E LS NE S ety i ST L1 S
te A
du @ wi (©) Uy (B) Yu A

136) If A+ B means A 15 the father of B; A - B means A is the brother of B: A% B means
A is the wife of B and A x B means A is the mother of B, which of the following
shows that M is the maternal grandmother of T?

A+Bueod A, B dinsh sofi; A- B oot A, B dlof i A% B eof A, B dlus,
et Ax B wod A, B sns, s ecod M, T stue, sy, 62 S0 s’ H0 Sripioon 7

¢ UUBSRAANAIB o JUBS2A o VAB. o VB ALV ABN

28/ S L AL TIEME S Ry 11927 e MSBS R AN ARB, 5!

(A) MxN%S+T (B) MxN-5%T
{©) MxS-N%T (D) MxNxS%T
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137) Veena who is the sister-in-law of Murali, is the daughter-in-law of Bhavani. Ramesh
is the father of Hemanth who is the only brother of Murali. How Bhavani is related

to Murali?
oo, oot i, K0S FodSes, Socio phwh dng, Sk, S, butbol Tooade
Indivod sode cln, F e Moo, paed dncdl SruicD? 5
(A) Wife / eng, (B) Aunt/eocd ﬁt ik
(C) Motherin-law / o8 @ Mother / 80
G- OUN /SR 0l s S 2 s e S A it JURIL LSS S 20
- A KAt
uh @ v (© Jb B de (A}
138) A3P means A is the mother of P
A4P means A is the brother of P
A9PF means A is the husband of P
ASP means A is the daughter of P

Which of the following means that K is the mother-in-law of M?
A3P w0l A, P cine, 80
A4P wolf A, P ciiod, dfccic

AIP ol A, P ctos 58S %
ASP wolf A, P s, st

Bon mealdf Do, K, M cloe, o8 o0 Sngon? {-ulJPJ'ﬁn.,-ﬂrrA:P

o JuFP A VAP

G- AP VP S A MK AOP

- K SP SR ALK ASP

T /K dMIS Lokt

(A) KSJI9M3N (B) K3J9N4M (C) M9N3K3) (D) M9IN3K4)
139) A's son B is mamied with C whose sister D is marmried to E the brother of B. How D
is related to A7

A alos, it B, C 0 Donino Skuthmnth. C aios, 26650 D, B dtnet, 2650035 E o
Dereno koon. D, A A S5osEoon?
Daughter-in-law / 5%8a0 (B) Sister/ décde

(C) Sister-in-law / S S fosses (D) Cousin [ 45
J:Jir'm‘:ﬁufDu-r,:-Jm“H.fﬂJ:rLE.hﬂJMu’ur”-'J.u:..Cd.uL#r!Bﬂ.?LA
te S
o @ deidw © o (B PRy
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: is 1
140) M is the father of N who is the son of V. In order to the relation of M 1o P, which of
the Statement / Statements is/are necessary!
(A) P is husband of Q W=y
(B) The daughter of N is the grand daughter of M
(C) The daughter of N is the grand dauehter of V
(D) Pis the brother of V
M. N cing #od sooato N, V dug54bh. M, P g Soscdio Biarmsot Soomde’
=aledio?
P, Q ot 20 (B) N cihos, dnddoch. M 3 soisisenes .
(C) N chosyseody V gy fodidioren. (D) P, V clos, S6eithio
P s A7 b PRI ME 2 5 Wi WS RM
SebafigiMed AN m e pPNOLIRD A
Uil M e VIRESN 1)

141) The last day of the century cannot he

dmyd 050 Be S0 ol D8 ST
(A) Monday / ¥soantn (B) Wednesday / snsamiso
(C) Tuesday / scodtionto (D) Friday/Ggmdo
O IS FTES s
A (D) Jio 24 (B & W

142) Calender for the year 2003 will be same Lor the year
2003 Boo Meonb §ob awddt & Hosido 5 nifen dossmon?
e il S E e L 501035600 200

(A) 2012 (B) 201« (€) 2013 (D) 2015
143} Four positions of the dice are shown below.
e gofisodd & o Arindo. S L sz L ~

SRR

The number opposite 10 3 18

3 oo G Bol DHEY
Iﬁ Tr.l'f..-'ﬁl'l.-:.l'r{,..l’:HJ#JJI?H.*JIFSJ";&J'&{H&)J?

(A) 4 (B) 2 ) 3 ) 6
144) Three pusitions of the dice are shown below.
fanh gofisodl 63 OS dnsadon & LseruE L Sld

Find the number of dots on %.u facc opposite the face bearing 3 dots,

3 WD MNANPOTR G BuRoD BOf e danon ] _
-ﬁnwﬂiﬁhﬂw_ﬂ:?u'wf_r.uﬁgf

(A) 4 (B) 3 (c 2 (D) 6
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145) Find the number that comes in the place of *7°

800 80* 17" iy 5ot 6 om 307 o
2,59 19377 NS S T Lfﬁﬂ"—.f'ﬁldld-l&«#.
¢ 75 8) 74 © 72 @) 7
146) Find the number that comes in the place of ‘7"
500 §86° 7" g sost 54 don, Sa?

n U b fomd 13d T ES S W tifit
469,132, 2

1
(A) ”E

147) Find out the term in the place of *7°

iﬂﬂfﬂ""’*‘ﬂfﬁﬁmw SSeRL AT LS ot dirkd it
- — 9

* 20" ——t==r g

® 222 © 25 ®) 1

17 19 29 20
A % ® . © 5 D)

148) In the following series, one term is given wrong, Find out the wrong term.
E00 S8 vt oy, B FHEOO. @ 0P HIEHhod

445, 221, 109, 46, 25, 11, 4 =AUV PRUSYIRY § PP § P
(A} 109 (B) 221 (C) 25 @) 46

149) In the following series find the term in place of “7*,
Bon el 47 & Asod® oo ST

T ELE L dn T LSl Jirly rd it

DKM, FIP, HIS, HV, __7

- (A) IGY @_ LGY (C) IGZ () HGY

_ 150) In the followang series find the term in place of?
| Bob R i Anstod! aomly a0 H07

fﬂ."ﬁ;ﬁd'ﬂaﬂ-'idhi-T,F;f:fﬂi-sffg.tz,f;tiﬁr,r:
WERZC, DWERE, ORI vie
(7 MONRO  (B) NQMOR  (C) MQORN (D) QMOMR
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Directions (().No. 151 to 155): There is a certain relation between two given terms
an one side of 22 and one word is piven an another side of ::- Find out the best
alternative from the given Options, having the same relation with this word as the

. given pair has.

srase (QNo. 131 = 155) : 117088 I Dibe &, Scfe Mol D08 tenalio doll 1+ 4
BED L B alkeded. dodt i SErETY Bed Mo @Y, atd' &) Sore Seuadie
e Bopslic & RO, BADR & Sorhes Db PO 2R Sireomd’ Bl SArere

E:ﬁgﬁ&ﬂé-.

Ly r:;,rﬁ-f.{rw df el migia ek Idl-ﬂqJ_' s (1550151 s Lha )
i._i.-%ﬁé.Jﬂaﬁgq{'ntﬁdjﬁfﬂéiéuﬂﬂuﬂﬁ=:4Iﬂ_§};u{.—,}‘u’!

151) Ocean: Pacific :: Island:?
(A) Ireland (B}
{C) Netherlands (D)

152) Cells : Tissues:: Atoms:?
(A} Elements (8)
(C) Molecules (D)

153) Elephant : Howdah ;. Horse: 7
(A) Hump (8)

© Hoof (D)

154) Wnist ; Elbow - Ankle:?
(A) Fool (B)
(C} Knee (D)

155) Car : Polish :; Flpor:?
{A) Wash (B)
(C) Wipe (D)
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Directions {Q.No. 156 to 160): Study the following information carcfully and answer
the questions given below.
Seven boys A, D, Y, U, F, Q and J Live i three different buildings. Ashiana, Top-view and
Ridge. Each of them is flying kites of different colours, Le, red. green, blue, white, black,
yellow and pink, not necessanly in that order. Not more than three are staying in any of
the buildings. Q is flymg a pink kite 2nd lives it the same bwiding as onlv J. L.e. Ashiany.
Y 15 flying a black kite and does not live in Ridge building. U does not live in the same
building as A or P and is flying a yellow coloured kite. D lives in Ridge huilding with
only one more person and is flying 2 green kite. None in the 1op-view budding flies a
white kite, P does not fly a blue kite.
i (H156 Socd 160) :dod oudys S, sy 500, dol Bhel
SHierdd weend A, D, Y U P Q soctv J oo sumdh BErb giiong? dotomns. wd
- shotem, b, oot of. ordotids S torbes 1 ™D DaRoib DI
05 D, whidg, Hoo, Boos, Hengy, Hokd ooto Hof, L SchdatE enenth Knos
SomnoS Dadibodm. H gRssediin Kam@ ol DS 0D apead DEowdiss. Q,
%ol dorh MmdDito HHsiiR. | 4 558068 D, wLRitu shaleam, Y, g Sorb
RDDLe SMHEEKNGD oty edd: Bf $Bs0s’ Drtc b, U, A Jon P eo paioss
ERSTr el DEoSd Bl HRD Jord mENbe drdiiigT. D, o Fiscd? e
EB DI et St rrOBIRG SO, anh g, f5od® Dol oS
dRE Bg PODEN] KD Sobd. P, Hoo dord i obaSab . :

ezl oL ;,xlagr.;ffﬂg:.i‘f,.:.,.t Jitss (1608156 1= b0 )
et bR Tt L P e s e sd £ L e bl AD, Y, U,P,Q
J.u_..r"g...ﬂq.fnh.r}r SN ad=alyphl g L:llg_ﬂu"-ysr'_.t}l-.& L Jr!.a._ﬂ.:;uj Al
2 tNGS IS 2Q.E il LIvpie of B Linis 3K S5
J"L.If..f,ﬁﬁ;ru{_ Hil_ﬁdf.ﬁﬁ‘h;—.’-?fﬁ-;.ﬁmf i L,’r'l.;}'fu.':. Bl %)
Gl -E:&llf RO, I_Ltlil...é'; JJ:J;JJ:IE;JLI i dl:.;..-.{lh_.aﬂmuﬁa
plif S d e & g E‘.{.ﬂjl-ﬂdﬁ-’f”f—‘a; ¥IpLid s dly”
g S Lo S 2pme Sediin

(56) Who hive in Ridge building?

Ol ZR048 D) DEHRYRET
@)/ DA, v ®) AP
© Y.AP ©) D,y
tq;ti;ﬂfuf...{.ﬂﬁru
DU (D Y.A P (O AF (B) D.AP (A)
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157) Who is flying the blue kite?

Heo Goth D DR e s Fgoto?
(A) J (B) A
{C) P (D) Data in adequate / amoato 68508 .
T{.plﬁuf.ﬁ{ﬂfu.m
S usiraly (D) P (C) A ® 1w
158) Who flies the red kite?
ity D Beng Sech ot Edgrats?
(A) A (B) J _
{C) P (D) None of these / 28,
e patigd/ B oo
L Uiy (D) P (C) ] (B) A (A)
159) Who stay in Top-view building?
nd) $n, SRSHOSF DI GOLMD T
(A) A Y, P (B) Y.JP (C) AP (D) A,RD
' -t L LR Fu b
APD (D) AP (O Y.LF (B AY.P (A
160) What coloured kite is | flying?
J & Goth D Den HbEBRgRNGL T
(A) Blue/boo
(B) Blackisexp
(C) Data in adequate/sfscs Ssimentio 80
(D) White/Sensy :
tepn il Lo
& ) & uirsr (© LY ® el (A)
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Drivections (Q. No, 161 - 165) : Find the missing character from the given alternatives
(in the place of 7)

RRGes (9 161 - 165) E00 ONAYS DYos'? o AGod? HB0NT DAY dizFos.
A G e LB e md i TRyl Jir e tir ) il (1656161 txlls)

(B) 48 (Cy 12 (i 52
1&1] : = =
6 |oa Jus| |9 [*]s] EREIEN
% 2 ]_*_]
| (A) 5 (B) 19 (C) 89 (D) 27
163) 2 | 3 A
q—éf’: m‘q'g—; »—C%D_?
{A) 2 (B) 4 (C} 3 (D) 5
lm
(A) 45 {C’} 21 (D) 25
= ! 7
S/1 |'ed \3
\27| " Jq
2] 2

(A) 8I (B) 125 (C) 216 (D) 27
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Negative mariing is theve, angwer cacefulty
Directions (Q. No. 166 to 170): In cach question below are given two statements
foltowed by four conclusions you have to take the given two statements to be true
even if they scem to be at variance from commenly known facts. Read the conclusions
and then decide which of the given conclusions logically follows from the two given
statements, disregarding commonly known fcts.

moeiiine (. 166 sbod 170 S8D) g&wygﬁmaumﬂﬁmpmnn;&m
DO, T cas Dot HIGTEL, RBLD B8, (6D DediDs Hevoth gijors S58),
Mwmwuﬁ.wwmmm{wmm .
R0 Oiorn $5308) o36%0d. '
it el Fdia 2 £ £ .-,ﬁ.n:;—,k & L L1z (1705166 52 1a)
E.-J"l.f(.n' s E-'f-.téﬁ'-_-f J"£J-E Jﬂﬁiwiﬂféﬁd;ﬁa‘} ahg iﬂ_ll" =L
- VWA NI AT
166) Siatements: All acroplanes are trains.
Some trains are chairs.
Copclysions :
{A) Soine aeroplanes are chairs
(B) Some chairs and trains.
() All chairs are rains.
(I3} Some chairs are acroplanes,
B Sumen: w2 Diwned D65

QYR 0hen,
ﬂt!iiﬂl:_!:
(A) &% Daverar Séies.
(B) &% ofeo Dy
(€} g ofen o,
(D) &%) Db Davaren
_LELd‘u.:Ig;jmrl? rells
-;,E;Jh—fnﬂdrﬁ
:él..'#
SuESuL A @) aukfugdind W
iediruL L o ARl ()
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167) Statements: All branches are flowers.
All flowers are leaves.

Conclusions:

(A) All branches arc leaves.

{B) Al leaves are branches.

{C) All flowers are branches.

(D) All lcaves are flowers.

Pascaeen; el E%5,m0 R,
qmm

ey - il

(A) of 8% athm,

(B) of et S,

(C) Ewm :_gd:{u!ﬂ-rﬂ il

(D) &g eses Hxven, _ BT JA D
:ﬁﬂ

S W) gL el W
wdAzc? ® U Bl (©

168) Statements: Some clothes are marhles.
Some marbles are bags.

Conglugions:
(A) All marbles arc bags.
(B) All bags arc marbles,
(C) No marble is a cloth.
(D) None of the above.
DD ﬂdﬂmw
54 Sgpey; oo,
i cmict
(A) 8 gl Rodhen,
(B) wqroe sgor
(C) 2 sgoean dree Sijo . LE;;-F-*.-,E‘I ks
D) aEb=s uaSbrrtd
£
urrtuc? ® aSbsrre? W
Lo o el Y e ©
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169) Stplements: No box is toy.

All tovs are boildings, -

Conclusions:

(A} Some toys are not buildings.

(B) All buildings are toys.

(C) Some buildings are toys,

(D) Some toys arc boxes.

BRI D D Kaos Erymed
00 S0 T

R e -

(B) e oS Sayes,

<) Feooen SEen,
©) Emm Ll o T

...ga;ui.}‘}—t?
be
el m B el L ()
Bl L LLHF LML ©

170) Statements: No election is fair,
Some expensive things are Fair,

(A) Somec expensive things are not elections,
(B) No election is expensive
(C) Some electians are expénsive,
(D) All expensive things are elections.
Eedime. D O dncs HEbo s,

S PP oo SHHOe SokPam,

R 28ps cruges o s
(B) 5 oo der 56550 s,
? 5 wien pdgn
(L) B PEBC Bigghes e, _‘:_Uﬂﬁ;l—_!hﬁfljjl’ file
V1) PRI WS

:({E
.;_i.f.‘r" m;..-..w.hg"ys @) S Gl AL (A)
+F B ubilie? @) de ik ©
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Directions (Q. No. [71 - 175) : Each question given below consists of a statement followed
by two arguments numbered I and IL. You have to decide which of the arpument is a
strong argument and which is a weak argument. Write the answers as following:

A: If only argument 1 is strong.

B: If only argument 11 is strong.

C: if either 1 or 11 is strong.

Dz I ncither | nor 11 is strong.

ARG 71 Axod 175 S ; o e Got aedSen I 11
mm%ljwmmﬁmymwh St Dowod fob
Dfors Dilrgeapoy oeabol.

A: 20od oS OO0, (a&E - 1

B: So oSS DORS. (o6 - M)

C: 30s8 o ot ovSS nofudd. (eSS - | oe oSS - )

D: Snchll Soociho ol SeiSTo DoRoSD o (88 - | Doas sS- 1) |
LS5 S TS e 12 LdirLig QITSEIN taliy)

LA ps 12 e AL 1 fone Aok f SHnt S 1820
- ST Joidsh
b Lo fi
it b 52 ;# rlﬁlfl' >
et A bk St D
171) Statement: Should luxury hotels be barned in India?

Alguments:

I.  Yes. They are places from where Intemational Criminals Operate.

II.  No. Affluent foreign tourists will have no place to stay.

& 8 B DERIOBENS DL Do

L 65 sosoaban Sioaie efnod Do s Londn DEinied.

I oth oggacnds 038 Ho oo B06enDS oo dodh.

..?,'.khpf.ﬁ.j -r(,#l.nl'd:wbuﬂ e

-ELvigfzgingtuge £ulioup -1k
bl (Bl AL Lfvdi o FLd

172) Statemeni: Should the political parties be banned in India?

. ¥es Itis necessary to teach a lesson to the politicians.
1. No. It will lead to an end of democracy.
B0 | 1083508 maladdfors Aot
I S oo mobtion o8 nddo 30,
Il . crDdes Sendo soso egwon. U #d /Ll uP el ik
S F s fus L0 - ks
Fu Fb¥egortle Y- A
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173) Ssateapent: Should all the infrastructural development projects in India be handed
over 10 the privaie sector?
Argumenys:
L Na, The privale sector entities are not equipped 1o handle such projects
il Yes. Such projects are handlcd by private sector in the developed countries.
fea%o * prdedodtn e dfed S e Dalthnito foudiin okl egfiomeen?
.

[ oo poien Gotf Dojot eevol Sages Dfanc Bgs 65

{I_——y 200 Bovdf ewmod Sondin doril ud fmigon '
i o = kﬁr&uﬁJ bl JV RSP ok
LSl N st ed X

-L.g..LJfde;:L;F {-I-ﬁ{l.:ﬂlﬁ-ﬂf ﬁiJ}-.u‘ =1l

174) Stavgment © Should fashionable dresses be banned i India?
Amgumenty:
I, Yes. Fashions keep changing and hence consumption of cloth increases.

U No. Fashionable clothes are a pemscn’s self expression and therefore hisher
fundamental right.

SHER0 | grtBsodt i8R BrdD izt Dhooowen ?
AT

L s, o S50 o 105 55 DO RHHH00.
L mecio P 000 Bnd diiuey a8 S A altos, 30046 Bl thootk o8 0 Dty S,
.;.y:ffhﬂ.&k.,rw..nuﬁ Lok gk

.F&HHLJJJ W? },r:u!lif r.-..rll.rd.'"" v N §
ce T Lg i S8 la S fLIE
175) Siarement © Should new g industnes be started in Mumbai?
Auments:

L Yes. I; will create job oppormunities.
il.  No. It wili further add 1o the pollution of the city.
Eﬂﬂﬂ_= 2woBd 74 gnb Sodiom hfofoimat

I~ "0, 80 0 sesivors D0
I mech @b, At smoodn g coxom Dodhenan

St U PSR E ok
—L HI‘“} gh"‘ LJ‘JHE—JLUF =l 'Fgfr
.JL& l*tjl‘[rl'ﬁ uﬁf:..,.l"l.u!’ i

9313 (Set - A) 40



www.sakshieducation.com

DNegative marking, ix there. apswer carciully
Dircctions (Questions 176 to 180) 1 The following questions are based on the infwmation
given below.
In 2 certain Jocality, 44% of the residents read the Indian Express, 35% read The Hindu and
43%ercad the Times of India. 10% read all the three. Also 15% read both The Indian Express
and The Hindu, 16% read both The Hindu and The Times of India and 17% read both The
Indian Express and The Times of Tndia. 64 residents do not read any news paper

Rmien {H4e0 176 Dod 180) : Saor ool Sgeo So DU RELRED B SEIHG STD00.
58 SOBOEF 44% £300 O RoGaDE SEIGD, 358 008 £ SRoSmD Henin 432 o £ i el
H0GaieD Stndend, 10% S0l Saslodd Shees 155 Son Sy BNy St ARoLing),
15% Tl beoring, (o w5 ROGOIRD, 175 fof) Robasd «IERE somaniu g.ﬁaea‘:- oot
S, 64 008 S HEmuand o DR G,
UG gk e 22 L (1807196 1m )
S ST 143000135 Rt S jide 2 a L
3 a:r;ﬁ;rﬂq:w{-i-ufmuiusﬁ.ﬁ_bglf,ewmyuuf;a,iummﬁ-...g::.:;
J:Fu:l,.‘:'gl.,;{ Hdsan 11 7% PRS- R} u"'di safs it 9 P OIG% — 2 bl
,Lf;..ﬁ;i'&-!’;prgiljrm _,,gLf.dlh—ﬂirJTu"rr
176) How many residents were surveyed?
0K 08 Apddho ad, e T et s sl &
[A) 400 @?:p 300 (C) 200 (D) 100

177y How many residents read exactly two newspapers?
DOBHOL AT BT Boi 03 S SEDIDT
P e Kald s LBl B
(A) 18 (B) 64 &) 72 (D) 108

178) How many residents read exactly one news paper?

IOEEII0E &5 e, DI SR :
RS ah 1 TS E i [idr sty s E

(A) 204 (By 224 (C) 154 (D) 84
L79) What is percentage of the residents who read only “The Hindu” to those who read
only “The Times of [ndia™?
i, 5 20dats Sngd Soslmed nodn fouid ©a8 D oo D067 :
- SN SV RE P I b Kl s 05 5 Yl ad =
(A) 50% (B) 30% (C} 60% (D) 70%
180) What is the ratio of the numbcr of residents who read *The Indian Express’ to that
of those who read only The Times of India?
Solnid EAN doiaes, 85 o aodols Snsdh codmed A4 K087
O s AEW L Eyad G b T i i3I g 1
(A) 106 (BY 1i:5 (Cy 11: 10 (D) 44:43
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181) A result of a survey of 1000 persons with Tespect 1o their knowledge of Hindi (H),
English (E) and Sanskrit (S) is given below.
B0 (H). aafi (L) mocts tan,yso (S) RO VORI D 1000 o B Mk
Poopeid fon Hbdd ma o noficn,
i - VU2 P LIt s A 0l b2 b Se A @ ons 2

Whuum::ﬁnnrtﬁmmtmwﬂﬂmmmmﬂmmwhudnnm
know Sanskrit?

o g BER 08 Boash Dodyso 300D B0l 6 K SoB?

Kt HVUMEsotia ST aWuE L & uiuF
3 I

. I 10
4 7 ® 5 o ®

182) If *ZEBRA" can be wriiton as 52102262, how can COBRA be written?
ZEBRA 0 52102362 e» vy, COBRA® S0550cm orctocss 7
y == "
il L L SN COBRAY o 2 s2102362/ ZEBRA"S!
@ 6302362 (B) 6320362 (C) 6230362 (D) 6023362
183) I ZIP = 198 and ZAP » 246, ke how will you code VIP?
ZIP = 198 o0 ZAP = 246 sl VIP 5 Sdcors 81 Sotesey?
LU S VP A ZAP = 2460218 = 198/,
(A) 222 (B) 888 © 174 (D) 990

!!ﬂ] If FULFNHW i the code for "CRICKET", then ‘FULGH" s the code for which
word?

FULFNHW ede ‘CRICKET" © 555 sod, EULGH e 804 5567
"Ly ZL LS BoLGit g 2 S5 L £ CRICKETS YuLeiw S,
(A) PRIDF (B) BLADE (C) BLIND ® sBrioe

185) ITSYSTEM is coded as SYSMET and NEARER as AENRER. then FRACTION
will be coded as

SYSTEM 8 SYSMETrs NEARER & AENRER, eoxd FRACTION o BpSore 255
Sosdy?

1L S5 VA SPRACTION 2 2. /3 / ABNRERSNEARER.»f SYSMETSSYSTEMS,

@ FRACNOIT  (B) NOITFRAC (C) CARFTION (D) CARENOP
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Directions (Questions 186 to 187) : You are given a combination of alphabers followed
by four alternatives A, B, C and D, Choose the altemative which most closely reserbles
the mirror-image of the given combinaton.

ameide (S4eo 186 Mol 167) : fo £97 agiovesh ey moot A, B, C oot D

g Amatnedo miydo eofod. RES mfme KRS Ui DELoBOM 4 SanSndtay

s Ery e Khs? Uieaif Dant, B, CiF L i e 67 (107 F186 1atis)
T, (R £ 8 PRI T IO S

186) EFFECTIVE

(A) HIIIOTIVA (8) EVITCEFFE

(cy BVITIIFId (D) BVITOT4E
187) INFORMATIONS

(A) IMAOAMATIONZ (B) 2MOITAMAQCTVI

(C) SHOITAWNAOTHAI | (D) IMEOEMALIOWE

Directions : (Questions 188 to 190) : Each of the following questions coasists of {ive
figures marked 1, 2, 3, 4 and 5 called the problem figures followed by four other figures
marked A, B, C and D called the Answer figures. Select s figure from amongst the Answer
Figures which will continue the same series as esmablished by the five problem Figures.

Rowesisen (Do 108 008 190) : 808 cngd S46° 5 Humen 1, 2.3, 4 8000 5 HGHF Heditneue,
@i mread A, B, C, D dsingra Samecor 00fio 800D, SEb0E0 Simus Sndoim
6 HUNY DENGHS Dene 20 HEosold
Ny g Jnr.gws.{.qumﬁf v i g (1907 186 s bis)
LS ww Pl cuenz gl Jogizz gL 0ma,B.cl0

LSS POLLT Ly
188) o t O
? o ) Fa +
A : v .
1 2 3 4 5
it
@l g° ® | g°
i =
[ o W |
cy | © ® {0
il i
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18
Tox X3 KE jE (g2
X OX |
1 a3 & 5
Mo =X
@ [SX . ® |58 a
dy A D
C) | « D) |c o
0 X 8 X 0
= =) ‘ﬁ' 3]
190} < ! ‘ n{
Al _ | =] =
&= | . + =
1 2 3 5
| '
(A) (B) |
= +
12 e
@ [ ] = )
+
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Directions (Questions 191 to 193) : Each of the following questions consists of two
sets of figures. Figures 1, 2, 3 and 4 constitute the problem set while figures A, B, C and
D constitute the answer sel. There is a definite relationship betweeén figures | and 2.
Establish a similar relationship between figures 3 and 4 by selecting a suitable figure
from the Answer set in the place of?
Rmaites (S0 191 Aol 193] : Soll a0yt R6 DY Soth HinRdie Beren BTE0w. 1, 2, 3
Tonaio 400 P S, A, B, C, D o ddncrane Heamdms, D030 1 Sbal 20
25 DTS HODOIo SO, PN 300 405, 830000 Sty HiRgrTe HEmino
1008 .8 Siioxs HEmemany 7 Sdodf aqsiod.

IO 501, 2,3, 4B L B L L sar s Z JBIE Ui £ (1996191 talls)

il Sl L s atLier .t JBIMIZDLA, B, CJB1LE

Hgite LS PINLT LSl b

~ [Vz] 6]

1 i 3 4

W |[OoD> (B)
(© " (D)
152) '_F‘ j_ [ 2

5

)

1 2 3 4
(A} : (B) 5
(©) =] o |[=_]
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poiECL
{A) @ B) | j

(C) ]| @ ] ®) [
| = |

Directions (Questions 194 to 196) : In each one of the following problems a square
transparent sheet with a pattem is given. Figure out amongst the four alternatives as to
how the pattern would appear when the transparent sheet is folded at the dotted lLine,

RSSen (B0 194 5008 186) | B0 0 DAY e SErPeendsy SmOUHE mliEk,
Do B ndon. SEURe Y S D ASiRg BSo0s SADRHNE 80 Do
£0k0nEf ots oxDp Himmame fHof fhgosod,

SEU e cnt SRS L1 et S iten (1965194 22 bla)

-ﬁl:jjﬁJ‘LT,ﬁ;P:!{L}:’LgFHJJEJﬁ-:—JJJF
194) ><
> (®) 7

(€} [gj] @)

| S W

(A)

v

9313 (Set - A) 46



www.sakshieducation.com

ki in [
195) ‘_L_l_]
@ | (B) Lr
!
[l e[
196) i]
I‘P
c |
(A) % ) (B) T f
L & S |
(©) T ®) ﬁ%_“_t
ot .

197} Some of the I_‘Z:ﬂnket pla:-,rt_rs are teonts players, some tennis players are hockey
players no cricket player is a hockey player. Which of the following diagrams
correctly represents the above statements.

Sro¥aof) EBeT glrmel, S Soemithen, Sotinon Byl Ermsston ;ﬂmagaﬁ

s e A Smehidm:, Son Tl B HSn PO 4 SEEmes pYsom

AR ? .
TSI g S L L gsniif o A rsswel S L
S b S Bl s e U U ol 38 s 7 S 26

& VR
O
@ §) {D}@
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198) In the following table some characters are given. These characters follow & certain
trend, row-wise of column-wise. Find out the value in place of 7

o) esberon. 7ty DES0HF docalit Denso BEhod,
B 2 et e £ F i€l s B ide )il

h.rrrji""fﬁ-ﬂ-'ﬂ’.-hé..l
13 | 12 | 5
17 15 &
25 | 24 | 7 |
23 | 21 | 20
(A) 15 (B) 1 {C) 9 oy 7

199) Suppose the first and the second lettcrs of the English alphabet changed places, also
the third and the fourth, the fifth and the sixth, and soon. In the new alphabet series
that formed, which letter would be the 14® from left and 6® from npht,

solitp mrstmndn Ence, Dotk efmen: Sres, Tk eoe; o5, oS some, 050
aﬁ@umw@nh Do DO sEtieedl Qo ol 145 sEE0 HBoin S5
food 65 sgko BT
St p LB AT MG Bl ity & Skt £y F
'ﬁ'rﬂljf-.jfuuﬁz.q_fluﬂlhL-E'i}L.:J-'l'l‘i-l.fJ.FE-;lﬂ;_."]-;{_n_l.g-rlﬁlgﬂf
(A) HU B) L,V @} M,V D) KU

200) Amange the following words I the sequence in which they occor in the dictionary
and then choose the correct soouence.

BoiS auny Deioeiisy sl DEnokngid o sand Sdedn, & HrdF emickn

‘!'..:,-_.a-'u.__;}ujffi.mﬁ Wi s ie WLy ~b Wl B b0

Eombustions
Rumanian
Funour
Ruminate

ol

Rumple
@1114,3,5 {B} 2,4,3,1,5 {C) 2,1.3,4,5 (D) 44,1,3,5
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